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The following table shows the details about money invested (principal) in a bank at a certain rate of interest for a given
period of time by six different male persons A-F, alongwith with the amount received (in ). Some values are missing in
the table (indicated as'_') that you are expected to calculate if required. Based on the data in the table, answer the

questions that follow.

Person-wise Details of Money Invested

Person

Rate of Interest

(%)

Time

(In years)

Principal

n3)

Amount Received

%)

6%

18000

6%

30000

29000

43000

m| o | m| =

8%

20000

F

60000

Note: Calculate simple Interest unless spacified.

Sub questions

Question Number : 1 Question Id : 22742721998 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

If the rate of interest received by Aand C is in the ratio of 2:3, then the money invested by C will get doubled in

years.
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Options:

22742785701.1

22742785702. 2

22742785703. 3

22742785704. 4



Question Number : 2 Question Id : 22742721999 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

If the difference between the interest received by E and B is < 4200 and E invested his money for double the time period for
which B invested his money, then the amount received by E is

1.330,000

2,326,600

3.329600

4.335400
Options:
22742785705. 1
22742785706. 2
22742785707. 3

22742785708. 4

Question Number : 3 Question Id : 22742722000 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

If the amount received by C is twice the money invested by him, then the amount he will receive after 2 years if he invests the
same sum of money in compound interest for 2 years compounded half yearly, is

Options:

227427857009. 1
22742785710. 2
22742785711.3
22742785712. 4



Question Number : 4 Question Id : 22742722001 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

If the interest recaived by F is 20% of the sum invested by him then how much more money as interest he would have eamed if
he had invested the money in compound interest?

1.3700

2.3600

3.3300

4.3400

Options :
22742785713. 1
22742785714. 2
22742785715.3

22742785716. 4

Question Number : 5 Question Id : 22742722002 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

If the interest recaived by F is < 7,575 mare than the interest received by D and the rate of interest received by F is 2% more
than the rate of interest recieved by A, then the interest rate received by D is

Options :

22742785717. 1
22742785718. 2
22742785719. 3

22742785720. 4



Question Id : 22742721997 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (1 to 5)

Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 22742721998 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742785701. 1
22742785702. 2
22742785703. 3
22742785704. 4

Question Number : 2 Question Id : 22742721999 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1.330.000

2.328600

3.329.600

4 335400
Options :
22742785705. 1
22742785706. 2
22742785707. 3

22742785708. 4

Question Number : 3 Question Id : 22742722000 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742785709. 1
22742785710. 2
22742785711.3

22742785712. 4

Question Number : 4 Question Id : 22742722001 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1.3700

2 3600

3.3300

4 3400

Options :
22742785713. 1
22742785714. 2
22742785715. 3

22742785716. 4

Question Number : 5 Question Id : 22742722002 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



i

T F 5 U1 o1, D G W 411 % 7575 Hfi0a & 3R F g7 I sAoie A R 0T i § 2 % oifid 3, 3t D g Wi
EJ‘HGIW%?

Options :

22742785717. 1
22742785718. 2
22742785719. 3

22742785720. 4

Sub-Section Number : 2
Sub-Section Id : 227427863
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 6 Question Id : 22742722003 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which element of cooperative learning talks about 'sink and swim' together?

1. Individual accountability
2. Promotive Interaction

3. Positive interdependence
4 Group processing

Options :

22742785721. 1
22742785722, 2
22742785723. 3

22742785724. 4

Question Number : 6 Question Id : 22742722003 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742785721.1
22742785722. 2
22742785723. 3

22742785724. 4

Question Number : 7 Question Id : 22742722004 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1) Canva is an online tool used to prepare creative content in the form of poster, infographics, presentations etc
Statement (II): Edpuzzle is an online tool used for creating interactive videos.

Inlight of the above statements, choose the most appropriate answer from the options given below

1. Both Statement (1) and Statement (Il) are correct.

2 Both Statement (1) and Statement (II) are incorrect
3. Statement (1) is correct but Statement (II) is incorrect
4 Statement (1) is incorrect but Statement (II) is correct

Options :

22742785725. 1
22742785726. 2
22742785727.3

22742785728. 4



Question Number : 7 Question Id : 22742722004 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742785725. 1

22742785726, 2

22742785727.3

22742785728. 4

Question Number : 8 Question Id : 22742722005 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are the charactertistics of mental development of Adolescents?
(A). Increased ability to generalise the facts

(B). Development of memory and imagination

(C). Decreased ability to deal with abstraction

(D). Decreased ability to understand

(E). Increased ability to solve problems

Choose the correct answer from the options given below:

1.(C), (D) and (E) only
2. (A), (B) and (E) only.
3. (A), (C)and (D).

4 (C)and (D) only.
Options :
22742785729. 1
22742785730. 2
22742785731.3

22742785732. 4

Question Number : 8 Question Id : 22742722005 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742785729. 1
22742785730. 2
22742785731.3

22742785732. 4

Question Number : 9 Question Id : 22742722006 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

In which approach the teacher presents a puzzling situation and students solve the problem by gathering data and testing their
conclusions?

1. Discovery leaming
2. Latent leaming

3. Situated leamning
4. Inquiry learning

Options:
22742785733. 1
22742785734. 2

22742785735. 3



22742785736. 4

Question Number : 9 Question Id : 22742722006 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742785733. 1
22742785734, 2
22742785735. 3

22742785736. 4

Question Number : 10 Question Id : 22742722007 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

(iven below are two statements:

Statement (1): The long-term memory for information tied to & particular time and place, especially memory of the events in a
person's life Is called as Implicit Memory

Statement (1): The knowledge that we are not concious of recalling but that influences our behaviour or thought without our
awareness is called as Episodic Memory.

In light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement (1) and Statement (I1) are true.
2. Both Statement (1) and Statement (II) are false.
3. Statement (1) s true but Statement (11) is false.
4. Statement () s false but Statement (If) Is true.



Options :

22742785737. 1
22742785738. 2
22742785739. 3
22742785740. 4

Question Number : 10 Question Id : 22742722007 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742785737. 1

22742785738. 2

22742785739. 3

22742785740. 4

Question Number : 11 Question Id : 22742722008 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:

Statement (I): In Cross- Sectional research, a researcher studies the same population over time.

Statement (I1): In retrospective study, a researcher relies on people's memories and recollections of the past.
In light of the above statements,choose the most appropriate answer from the options given below.

1. Both Statement (1) and Statement (Il) are true.
2. Both Statement () and Statement (1) are false.
3. Statement (1) is true but Statement (I1) is false.
4. Statement (1) is false but Statement (I1) is true.

Options :

22742785741. 1
22742785742. 2
22742785743.3
22742785744. 4

Question Number : 11 Question Id : 22742722008 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742785741. 1
22742785742. 2
22742785743.3

22742785744. 4



Question Number : 12 Question Id : 22742722009 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In naturalistic observation, the practice of dichotomous recording whether a behaviour occurs or not, constitutes

1. Cluster sampling

2. Time-interval sampling

3. Onelzero sampling

4. Continuous real-time sampling
Options :
22742785745. 1
22742785746. 2
22742785747.3

22742785748. 4

Question Number : 12 Question Id : 22742722009 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742785745. 1
22742785746. 2
22742785747. 3

22742785748. 4

Question Number : 13 Question Id : 22742722010 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

(Given below are two statements:

Statement (1) According to UGC Regulations 2018 on plagiarism, the authorities of a higher education institute cannot take suo
moto notice of an act of plagiarism.

Statement (II): Plagiarism means the practice of taking someone else’s work or idea and passing them as one's own.
In light of the above statements, choose the most appropriate answer from the options given below,

1. Both Statement (1) and Statement (Il) are comect.

2. Both Statement (1) and Statement (II) are incorrect.
3. Statement (1) is correct but Statement (Il) is incorrect.
4 Statement (1) is incorrect but Statement (Il) is correct.

Options:

22742785749. 1
22742785750. 2
22742785751.3

22742785752. 4

Question Number : 13 Question Id : 22742722010 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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22742785749. 1
22742785750. 2
22742785751. 3

22742785752. 4

Question Number : 14 Question Id : 22742722011 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

For a perfect normal distribution, the median would be equal to which of the following measures?
(A). Second quartile

(B). Mean

(C). 50! percentile

(D). Mode

(E). 5™ decile

Choose the correct answer from the options given below

1. (A), (B) and (C) only.

2. (A), (B)and (D) only.
A), (B), (C) and (D).

4 {AL (B), (C) (D) and (E).

Options :

22742785753. 1
22742785754. 2
22742785755. 3

22742785756. 4

Question Number : 14 Question Id : 22742722011 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742785753. 1
22742785754. 2
22742785755. 3

22742785756. 4

Question Number : 15 Question Id : 22742722012 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



For which of the following p-value of a test statistic, a null hypothesis is likely to be rejected?
(A). 0.38 of 2%

(B). 38%

(C). 2%

(D). 0.46

Choose the correct answer from the options given below

1. (A) and (B) only
2. (A)and (C) only
3. (B) and (C) only
4. (B) and (D) only
Options :

22742785757. 1
22742785758. 2
22742785759. 3

22742785760. 4

Question Number : 15 Question Id : 22742722012 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742785757. 1
22742785758. 2
227427857509. 3

22742785760. 4

Question Number : 16 Question Id : 22742722013 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

From the communication viewpoint, the Indian rhetoric, in its Hindu and Buddhist forms, has a/an

1. Materialist basis

2. Ethical basis

3. Euro-centric basis
4 Non-religious basis

Options:

22742785761. 1
22742785762. 2
22742785763.3

22742785764. 4



Question Number : 16 Question Id : 22742722013 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742785761. 1
22742785762. 2
22742785763. 3

22742785764. 4

Question Number : 17 Question Id : 22742722014 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The paradoxical relationship between body and mind in a communication environment results in

1. Mindfulness

2 Self-importance
3 Obedience

4 Humour

Options :

22742785765. 1
22742785766. 2
22742785767. 3
22742785768. 4

Question Number : 17 Question Id : 22742722014 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742785765. 1
22742785766. 2
22742785767. 3
22742785768. 4

Question Number : 18 Question Id : 22742722015 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following are essential components of dialegic communication, according to Richard Johannesen?
(A). Afacade of pleasant greefing

(B). possessive warmth for others

(C). Empathic understading

(D). Spirit of mutual equality

(E). Positive regard for others

Choose the correct answer from the options given below:

—

A), (B) and (C) only.
B) (C) and (D) only.
C)(D)and (E)

A), (D) and (E) only.

1.
2
3

— —

)
)
)
4 (A)

o,

Options :
22742785769. 1

22742785770. 2



22742785771.3

22742785772. 4

Question Number : 18 Question Id : 22742722015 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742785769. 1
22742785770. 2
22742785771. 3

22742785772. 4

Question Number : 19 Question Id : 22742722016 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The non-verbal communication is studied across which of the follwing disciplines?
{A). Physics

(B). Chemistry

(C). Linguistics

(D). Social psychology

(E). Anthropology

Choose the correct answer from the options given below:

1. (A), (B) and (C) only.
2. (B) (C)and (D) only.
3. (C), (D), and (E).

4 (A), (B) and (E) only.
Options :
22742785773. 1
22742785774. 2
22742785775. 3

22742785776. 4

Question Number : 19 Question Id : 22742722016 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Fafeiad faugl 5 ¥ fo-16- 8§ TR-2isad YaR &I 8- [l |ar g2
A. HildH IR

B. TUTHARIRA

C. HIuTERHE

D. GHEIS® HIfaTH

E. AH4RIE
-d feu U famedl § § 999 IUgdd Itk &1 94 BIeld:

1. BadA B3R C
2 ®dd B, C AR D
3. ®add C, D3RE
4 HAAA B3ARE

Options :

227427857731
22742785774. 2
22742785775. 3
22742785776. 4

Question Number : 20 Question Id : 22742722017 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1): Every communication contains elements of both content and relationships.
Statement (I): Eye behaviour provides metacommunicative cues.

In light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (I) and Statement (Il) are true.
2. Both Statement (1) and Statement (11) are false.
3. Statement (1) i1s true but Statement (1) 15 false.
4 Statement (1) is false but Statement (I1) is true.

Options:



22742785777.1
22742785778. 2
22742785779. 3

22742785780. 4

Question Number : 20 Question Id : 22742722017 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

@Y |- Ude YaR H fqugasq 3R &t gHl & dd [dgH9H 8d |

Y |- HEf & TdeR 4 WHIR! Yad Had £

SWRiad By & e H, 41 Gu U faded! § T el Sk &1 99 Diteid

1. PYFI AR NG gd g

2. YT | R || gHf SO &

3. ®YF | G &, Afted SYA 1| 3T ©
4 DY | AUT T, Afh-T HYT | G &
Options :

22742785777. 1

22742785778. 2

22742785779. 3

22742785780. 4

Question Number : 21 Question Id : 22742722018 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Find the correct sequence of five (5) missing letters which will complete the following letter series
daa bc cda a c c

1.a. bacb

2 a,.eb.a¢

3 #6.8.b¢

4 3,¢a,cb

Options:

22742785781. 1
22742785782. 2
22742785783. 3

22742785784. 4

Question Number : 21 Question Id : 22742722018 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Ui (5) T H&R[ @1 Ug) 5 T & o FHafeifed aul-saet ot 81 <l daa_bc_cda_a ¢ c
1a,b,acb

2 aebac

3 @, 6.8, b,

1 A cach

Options :

22742785781. 1

22742785782. 2

22742785783. 3

22742785784. 4



Question Number : 22 Question Id : 22742722019 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

If in a scheme. the word 'FATHER' is coded as 104", how the word 'MOTHER' will be coded in the same scheme?

1.104

Options :

22742785785. 1
22742785786. 2
22742785787.3

22742785788. 4

Question Number : 22 Question Id : 22742722019 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

ft foel T & FATHER' 1104 o &0 H oot oo 71 3, ol 3t 2151 § MOTHER' Tec, 1 8 doefad fodl aIeAT?

1.104

2.83

3.87

4.102

Options :
22742785785. 1
22742785786. 2
22742785787. 3

22742785788. 4

Question Number : 23 Question Id : 22742722020 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Acircle has the diameter same as the length of the side of an equilatral triangle. What is the ratio of their respective areas?

11:
2.92:
3 11;
4 11:

-
[ "l
-
i

= S

[

< i

P

Options :

22742785789. 1
22742785790. 2
22742785791. 3

22742785792. 4

Question Number : 23 Question Id : 22742722020 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
U6 30 &1 O AR U6 GHYS Bo o} U6 Yo 1 a%T 99H 8| 376 SAbal &1 Ui ol 8112

1.11:7/3
2.22:7/3
a1 et

Slsl

4 11:

Options :

22742785789. 1
22742785790. 2
22742785791. 3

22742785792. 4

Question Number : 24 Question Id : 22742722021 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
An article is sold at a gain of 10%. Had it been sold for Rs. 26 more, the profit would have been 15%. The cost price of the
article is

1.Rs 480/-

2 Rs.500/-

3 Rs 510

4 Rs.520/-
Options :
22742785793. 1
22742785794. 2
22742785795. 3

22742785796. 4

Question Number : 24 Question Id : 22742722021 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Tl e @110 %1 R o1 701 391G 38 39 oy 90§ <206 e R el 7 et 15 % M G2 il | %) @1 Pl 90

1.3480

2.3500

3.3510

4.3520

Options :
22742785793. 1
22742785794. 2
22742785795. 3

22742785796. 4

Question Number : 25 Question Id : 22742722022 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

The difference between the compound interest and simple interest on <10,000/- for 3 years at 10% per annum is

1.310

2.300

3.200

4.430

Options :
22742785797. 1
22742785798. 2
22742785799. 3

22742785800. 4

Question Number : 25 Question Id : 22742722022 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

10 % It BI G Y 10000 W 3 9Y] & Tshdfe STd AR YR &S b HH R a1 82

1.3310

2.3300

3.3200

4.3 430
Options :
22742785797. 1
22742785798. 2
22742785799. 3

22742785800. 4

Question Number : 26 Question Id : 22742722023 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following group of terms in order of increasing extension.
{A). Mammal

(B). Wildcat

(C). Feline

(D). Animal

(E). Vertebrate

Choose the correct answer from the options given below:

1. (B), (C), (A), (E), (D).
2. (D), (E), (A), (C), (B).
3. (D), (A), (E), (B), (C).
4. (C), (B), (E), (A), (D).
Options :

22742785801. 1
22742785802. 2
22742785803. 3

22742785804. 4

Question Number : 26 Question Id : 22742722023 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



FEfeRad ee el &l 953y & ARG 71 H HaRyd SIfT :
A TTOEL

B. gfead

C. fasm

D. T

-id feu U foeedl & © 981 3R &1 99 DIt

1.B,C,AED
2D EACEB
3. DA E B, G
4 C,B,EAD

Options :

22742785801. 1
22742785802. 2
22742785803. 3
22742785804. 4

Question Number : 27 Question Id : 22742722024 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"If you like ketchup and you also like icecream, then you would sure like ketchup icecream.” Which fallacy is committed in this
argument?

1. Ad Hominem

2. Hasty Generalisation

3. Slippery Slope

4 Fallacy of composition
Options:
22742785805. 1
22742785806. 2

22742785807. 3



22742785808. 4

Question Number : 27 Question Id : 22742722024 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
"G, 310 9 TG % 3 AR S0 SHZHHTH Ht GG e 2, o e 0 § i Mgt e il 9 G H o
T 37

1, o 9R19 5 e

2. HaNE FHRIEU
3. g B

4 Welaey
Options :
22742785805. 1
22742785806. 2
22742785807. 3

22742785808. 4

Question Number : 28 Question Id : 22742722025 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which formal fallacy is committed in the following argument: "No politicians are idiots. Some voters are not idiots. Therefore,
some voters are not politicians."?

1. Exclusive Premises

2. Existential fallacy

3. Afirming the consequent
4. Denying the antecedent

Options :
227427858009. 1
22742785810. 2

22742785811. 3



22742785812. 4

Question Number : 28 Question Id : 22742722025 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e 4 B @ 91 SN G &l 2 oricn 98 ] ol 61 3 Farel 9 Te) o 51 39101, 39 Haal Toriioq

a8

1. TG LRI

) YWD Togy

3. B faYR-E

4. 3qdI Y QY
Options :
22742785809. 1
22742785810. 2
22742785811. 3

22742785812. 4

Question Number : 29 Question Id : 22742722026 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (I): Inductive arguments can only be stronger or weaker.

Statement (Il): Deductive arguments are either invalid or valid.

In light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (I) and Statement (II) are correct.

2. Both Statement (1) and Statement (I1) are incorrect
3. Statement (1) is correct but Statement (I1) is incorrect
4 Statement (1) is incorrect but Statement (I1) is correct

Options :



22742785813. 1
22742785814. 2
22742785815. 3

22742785816. 4

Question Number : 29 Question Id : 22742722026 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

@Y |- AT gfGad! $ad €6 O HHIR &l 9ddl g

Y II: FRTHATES Tfeaal ar dl oy gidl & a1 3¢ gidl €|

SWRiad By & e H, 41 Gu U faded! § T el Sk &1 99 Diteid

1. ®YF | MR I T &

2 Y| AR I GHf T 8

3. PYF | I §, dichd DY 11 3T B
4 DY | AUT T, Afh-T HYT | G &
Options :

22742785813. 1

22742785814, 2

22742785815. 3

22742785816. 4

Question Number : 30 Question Id : 22742722027 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



In which of the following arguments the reason is counterbalanced by another reason as per classical Indian school of logic
(Nyay)?

(A). All things are non-etemal, because they are knowable.
(B). Fire Is cold because it is a substance.

(C). Sound is eternal because it is produced.

(D). Sound is a quality, because it is visible.

Choose the correct answer from the options given below:

1.(B)and(C
2 (A)and (D)
3.(C)and (D]
4. (B)and (D) only.

only.
only.

)
D)
)
)
Options :

22742785817. 1
22742785818. 2

22742785819. 3

22742785820. 4

Question Number : 30 Question Id : 22742722027 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T & YR QR <G A & S8R 5 H 9 foo gt 7 89 il 3 5q 3 foigfer 1 o 82
A GHT TG0 IR-T14d € i d 7B

B. +if fiqa gl & T T8 Tard &

C. A A% 3 FMfe 78 Iaifed gt 3l

D. @ 701 8 Fifs a8 X4 3

HTd few e faded T a8 IUYH IR &1 98 DI

1 $3aB AR C
2 BATAIRD
3 %aa C AR D
4 $aaB ARD

Options :

22742785817. 1
22742785818. 2
22742785819. 3

22742785820. 4

Question Number : 31 Question Id : 22742722028 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1): MyGov. is a platform through which Government of India aims to encourage citizen participation towards good
govemance by seeking their ideas and suggestions.

Statement (1): MyGov platform is developed by three of the former Flipkart executives to provide a cashless and seamless
payment experience.

In light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (1) and Statement (I1) are true.
2. Both Statement (1) and Statement (II) are false.
3. Statement (1) 1s true but Statement (I1) is false.
4 Statement (1) 1s false but Statement (1) is true.

Options:



22742785821. 1
22742785822. 2
22742785823. 3

22742785824. 4

Question Number : 31 Question Id : 22742722028 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Y |- TR (MyGov) T U1 Hd 2 fords W1eg ¥ 4R SR e ! & QI o el 347y iR iR i ot o 3
TGN &1 Uicdlied & Pl TiEd 3% ol

O |1 157 T ] Tuere o o d @it 4 e Uea d Faly YTaM 34a ToH & o fort fam i fovan 2|

TR BU & AP ¥ A G0 T fowedt o 8 W81 TR 31 957 B

L PH IR TH 90 e

2 O | NI G S B

3 T | T 5, e B 11 3l &
4 T | 3T & T 5 11 9T |
Options :
22742785821. 1
22742785822. 2
22742785823. 3

22742785824. 4

Question Number : 32 Question Id : 22742722029 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:

Statement (1): Dropbox is an example of e-mail service on the Internet.

Statement (I1): Google Docs is an online word processor.

In light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (I) and Statement (Il) are true.
2. Both Statement (1) and Statement (11) are false.
3. Statement (1) is true but Statement (1) is false.
4 Statement (1) is false but Statement (I1) is true.

Options :

22742785825. 1
22742785826. 2
22742785827.3
22742785828. 4

Question Number : 32 Question Id : 22742722029 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

HY |; STUEIFT Se3-e U1 5-40 9a1 &1 Uh 3aeu gl

®U |I: I S T HHcE do UR B

SWRId Y & Hciid |, Hid 15T T fadedl & T Tel IR &1 994 Siteg

1 Y 3RIGHI 9d g

2 ®YF | AN I GHf AET B

3 YT | Td &, Al HYF 1| 39T §
4 Y| MO g, dibd Y 11 T 8

Options:

22742785825. 1
22742785826. 2
22742785827.3

22742785828. 4



Question Number : 33 Question Id : 22742722030 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1): Dynamic RAM (DRAM) is the most common type of RAM used in computers, but where absolute speed is
essential, Static RAM (SRAM) is the preferred technology.

Statement (1): The Processor's Memory Cache is the high speed portion of the memary and SRAM s the effective technology
for the same.

In light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (1) and Statement (I1) are true.
2. Both Statement (1) and Statement (II) are false.
3. Statement (1) is true but Statement (I1) is false.
4. Statement (1) is false but Statement (1) is true.

Options:

22742785829. 1
22742785830. 2
22742785831. 3

22742785832. 4

Question Number : 33 Question Id : 22742722030 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742785829. 1
22742785830. 2
22742785831. 3
22742785832. 4

Question Number : 34 Question Id : 22742722031 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statements A-D about Internet Cookies is/are true?
{A). They are form of spyware.

(B). They are used only in advertising

(C). They are used to track browser use.

(D). They act in the same way as a virus.

Choose the correct answer from the options given below

1. (A) only.

2. (A) and (B) only
3. (C) only

4 (C)and (D) only.
Options :
22742785833. 1
22742785834. 2
22742785835. 3

22742785836. 4

Question Number : 34 Question Id : 22742722031 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742785833. 1
22742785834. 2
22742785835. 3
22742785836. 4

Question Number : 35 Question Id : 22742722032 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statements are correct with reference to Organic Light-Emitting Diodes (OLEDs)?

(A). Because of plastic organic layers, OLEDs are much thicker and heavier than conventional LCD/LED formats.
(B). OLEDs give a brighter light than LEDs leading to more vivid colours.

(C). OLEDs produce a much larger field of view than LCD/LED formats.

(D). OLEDs require some form of back-lighting so that the screen can be lit up.

(E). OLEDs consume more power than LCD/LED formats and thus produce more heat.

Choose the correct answer from the options given below:

Options :

22742785837. 1
22742785838. 2
22742785839. 3
22742785840. 4

Question Number : 35 Question Id : 22742722032 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742785837. 1
22742785838. 2
22742785839. 3
22742785840. 4

Question Number : 36 Question Id : 22742722033 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Concept of salt gradient is utilized to store the heat energy in which of the following solar energy collecting systems?

1. Solar thermal collectors
2. Solar cells

3. Solar ponds

4 Solar kilns

Options:
22742785841. 1
22742785842. 2

22742785843. 3



22742785844. 4

Question Number : 36 Question Id : 22742722033 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
fet W) et TG0 Ol fo o] H 3 G5l b Y/ GRU b foTU <l ol 1 Wbt ol T ] i 62

1 9% a0 950
2 IR
3 ORam
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Options :

22742785841. 1
22742785842, 2
22742785843. 3
22742785844. 4

Question Number : 37 Question Id : 22742722034 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Full form of PAN, a type of air pollutant, is

1. Polycyclic Aromatic Nitrate
2. Polycyclic Acetyl Nitrate

3. Peroxy Aromatic Nitrate

4 Peroxy Acetyl Nitrate

Options :

22742785845. 1
22742785846. 2
22742785847. 3
22742785848. 4



Question Number : 37 Question Id : 22742722034 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
9 UgN®| & UP UBR , PAN BT U A1 FE H ¥ &F 91 8?2

1. Uil gsidas WHk® 5de
2. UriiEgiae Uferge Agde
3. IR Wi Agee
4. I URersd g

Options :

22742785845. 1
22742785846. 2
22742785847.3

22742785848. 4

Question Number : 38 Question Id : 22742722035 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (I). Two categories of Ozone Depleting Substances (ODS) were class | and class |
Statement (I1): Production of class |l ODS ceased in 2000.

In light of the above statements, choose the most appropriate answer from the options given below.

. Both Statement (1) and Statement (1I) are correct.

. Both Statement (I) and Statement (11) are incorrect

- Statement (1) is correct but Statement (11} is incorrect
- Statement (1) is incorrect but Statement (11) is correct

L O —

o

Options :

22742785849. 1
22742785850. 2
22742785851. 3

22742785852. 4



Question Number : 38 Question Id : 22742722035 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

HYF |- 3 AR uard (0DS) Bt of 4fomi &+t | g & 11 |

YT |1 I 1| ODS BT IAIGH 2000 H & 5 741 YT

SWRIdd HYH & HHeid H, Aid feu U fadwedl § ¥ 98! IR &1 98- Hifee

1. DY AR S IO §

2. BYF | 3R | G 3T B

3. ®YT 1 90 &, dfpd DY 1l 39T ©
4 HYF | I e, AfPT PYT I II B
Options:

22742785849. 1

22742785850. 2

22742785851. 3

22742785852. 4

Question Number : 39 Question Id : 22742722036 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one Is labelled as Assertion (A) and other one labelled as Reason (R).

Assertion (A) : Formaldehyde, widely used in plastics, wood products, insulating materials, glue and fabrics, is a serious
allergen.

Reason (R) : Allergens are substances that activate the immune system
In light of the above statements, choose the most appropriate answer from the options given below .

1. Both (A) and (R) are correct and (R) is the correct explanation of (A).

2. Both (A) and (R) are correct but (R) is NOT the comect explanation of (A).
3. (A) s correct but (R) is not correct.

4 (A)is not correct but (R) Is correct.



Options :

22742785853. 1
22742785854, 2
22742785855. 3
22742785856. 4

Question Number : 39 Question Id : 22742722036 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742785853. 1

22742785854, 2

22742785855, 3

22742785856. 4

Question Number : 40 Question Id : 22742722037 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



During which one of the following the Convention on Biodiversity was opened for signature?

1. Rio Summit

2. Stockholm conference
3. Ramsar convention

4. Montreal Protocol

Options :

22742785857. 1
22742785858. 2
22742785859. 3

22742785860. 4

Question Number : 40 Question Id : 22742722037 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742785857. 1
22742785858. 2
22742785859. 3

22742785860. 4

Question Number : 41 Question Id : 22742722038 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The Hindu college of Calcutta was later renamed as

_ Surendranath college

- Ram Mohan Roy college
University/College

. Presidency college

[

o

Options :

22742785861. 1
22742785862. 2
22742785863. 3

22742785864. 4

Question Number : 41 Question Id : 22742722038 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742785861. 1
22742785862. 2
22742785863. 3

22742785864. 4

Question Number : 42 Question Id : 22742722039 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Dr. B. R. Ambedkar was associated with

{A). Elphinstone college, Mumbai

(B). Khalsa college, Mumbai

(C). Milind college, Aurangabad

(D). Siddharth college, Mumbai

(E). Fergusson college, Pune

Choose the correct answer from the options given below:

1. (A), (B) and (C) only.
2.(B), (C)and (D) only
3. (C), (D) and (E) only
4. (A), (D) and (E) only.
Options :
22742785865. 1
22742785866. 2
22742785867. 3

22742785868. 4

Question Number : 42 Question Id : 22742722039 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742785865. 1
22742785866. 2
22742785867. 3
22742785868. 4

Question Number : 43 Question Id : 22742722040 Question Type : MCQ Option Shuffling :

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1): The National Policy on Education (1986) intended to encourage inter-disciplinary research in social science.
Statement (1) According to the National Policy on Education (1986) the idea of rural universities was untenable.

In light of the above statements choose the most appropriate answer from the options given below.

1. Both Statement (I) and Statement (Il) are true.
2. Both Statement (1) and Statement (II) are false.
3. Statement (1) is true but Statement (11} Is false.
4 Statement (1) is false but Statement (II) is true.

Options:

No



22742785869. 1
22742785870. 2
22742785871. 3

22742785872. 4

Question Number : 43 Question Id : 22742722040 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742785869. 1
22742785870. 2
22742785871. 3

22742785872. 4

Question Number : 44 Question Id : 22742722041 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following fundamental principles of education are highlighted under New National Education Policy (2020)?
(A). Higher education as a fundamental right.

(B). Multi-disciplinarity and holistic education.

(C). Outstanding research as part of higher education.

(D). Promotion of multilingualism in teaching and learning.

(E). Setting up of another knowledge commission.

Choose the correct answer from the options given below:

(A), (B) and (C) only.

(B), (C) and (D) only

(C), (D) and (E) only
(D)and (

),
),
),
(A), (D) and (E) only.

1
2
3
4
Options :

22742785873. 1
22742785874. 2
22742785875. 3

22742785876. 4

Question Number : 44 Question Id : 22742722041 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742785873. 1
22742785874. 2
22742785875. 3
22742785876. 4

Question Number : 45 Question Id : 22742722042 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Environmental education is needed for:

{A). Conservation of natual resources.

(B). Knowledge of causes of pollution.

(C). Knowledge of measures to prevent pollution.

(D). Extensive extraction of natural resources.

(E). Economising on scientific invention.

Choose the correct answer from the options given below:

1. (A), (B) and (C) only.
2. (B), (C) and (D) only
3. (C), (D) and (E).

4. (A), (D) and (E) only.
Options :
22742785877. 1
22742785878. 2
22742785879. 3

22742785880. 4

Question Number : 45 Question Id : 22742722042 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742785877. 1
22742785878. 2
22742785879. 3

22742785880. 4

Sub-Section Number : 3
Sub-Section Id : 227427864
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 22742722043 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension



Read the following passage carefully and answer the questions given below:

Saving energy means saving money. Homeowners and renters know this basic fact, but they often don't know what kinds of
adjustments they can make in their homes and apartments that will result in savings.

For those willing to spend some time and money to reap long-term energy savings, an energy audit is the way to go. An energy
auditor will come into your home and assess its energy efficiency. The auditor will pinpoint areas of your home that use the most
energy and offer solutions to lower your energy use and costs. Trained energy auditors know what to look for and can locate &
variety of flaws that may be resulting in energy inefficiency, including inadequate insultion, construction flaws, and uneven heat
distribution.

There are quicker and less costly measures that can be taken as well. One way to save money is o replace incandescent lights
with fluorescents. This can result in a savings of more than 50% on your monthly lighting costs. When it's time to replace old
appliances, if's wise to spend & bit more for an energy-efiicient model, and be sure that you are taking advantage of energy-
saving settings already on your current refrigerator, dishwasher, washing machine, or dryer.

Windows provide another opportunity to cut your energy costs. Caulk old windows that might be leaky to prevent drafts, and
choose double-paned windows if you're building an addition or replacing old windows.

Most areas of your home or apartment offer opportunifies o save energy and money. The results are significant and are well
worth the effort.

Sub questions

Question Number : 46 Question Id : 22742722044 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The passage indicates that old appliances

1. Consume more energy.
2. Consume less energy.
3. Work well.

4 Have long life.

Options :

22742785881. 1
22742785882. 2
22742785883. 3

22742785884. 4



Question Number : 47 Question Id : 22742722045 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

With reference to the fourth paragraph of the passage, the meaning of the word 'Caulk’ is

_to shut

- to make more attractive

_to fill the holes

4 to find the cause of a problem

[ O

Options:

22742785885. 1
22742785886. 2
22742785887. 3
22742785888. 4

Question Number : 48 Question Id : 22742722046 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

According to the passage, double-paned windows

1. should never be used as replacement windows or in new additions to homes
2. can't be repaired

3. will lower your heating costs by 50%

4 are energy efficient

Options:

22742785889. 1

22742785890. 2

22742785891. 3

22742785892. 4

Question Number : 49 Question Id : 22742722047 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

According to the passage, which of the following would an energy auditor do?
(A). Locate a variety of flaws that may result in energy inefficiency and fix them.
(B). Check for construction flaws

(C). Look for problems with heat distribution

(D). Offer solutions to lower your energy costs

Choose the correct answer from the options given below:

1. Aonly.

2. B and C only.

3. C and D only.
4 B, CandD only

Options :

22742785893. 1
22742785894, 2
22742785895. 3

22742785896. 4

Question Number : 50 Question Id : 22742722048 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following ideas is not included in the passage?

1. You can reduce your monthly lighting costs by more than 50% by using fluorescent bulbs instead of incandescent.
2. Double-paned windows can cut energy costs.

3. Energy audit for every home and apartment should be mandatory in India.

4 Some appliances have energy-saving settings.

Options:

22742785897. 1

22742785898. 2



22742785899. 3
22742785900. 4

Question Id : 22742722043 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 22742722044 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742785881. 1
22742785882. 2
22742785883. 3
22742785884. 4

Question Number : 47 Question Id : 22742722045 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742785885. 1
22742785886. 2
22742785887. 3
22742785888. 4

Question Number : 48 Question Id : 22742722046 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742785889. 1
22742785890. 2
22742785891. 3

22742785892. 4

Question Number : 49 Question Id : 22742722047 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742785893. 1
22742785894. 2
22742785895. 3
22742785896. 4



Question Number : 50 Question Id : 22742722048 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742785897. 1
22742785898. 2
22742785899. 3

22742785900. 4
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Question Number : 51 Question Id : 22742722049 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following theorists is not a proponent of the liberal perspective?

~John Locke

2. Thomas Paine
3. Anton Gramsci
4 J5 Mill
Options:
22742785901. 1
22742785902. 2
22742785903. 3

22742785904. 4

Question Number : 51 Question Id : 22742722049 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742785901. 1
22742785902. 2
22742785903. 3

22742785904. 4

Question Number : 52 Question Id : 22742722050 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The number of Judges of the European Court on Human Right (ECEHR) are structured on the basis of

1. One Judge per member State

2. Two judges per member state

3. Random appointment

4. Nominaiton by European Parliament

Options :

22742785905. 1
22742785906. 2
22742785907. 3

22742785908. 4

Question Number : 52 Question Id : 22742722050 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742785905. 1
22742785906. 2
22742785907. 3
22742785908. 4

Question Number : 53 Question Id : 22742722051 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which provision of the Universal Declaration of Human Rights provides that “everyone has the right to a nationality™?

1. Article 20, paragraph 1
2. Article 15, paragraph 1
J. Article 22

4 Article 23, paragraph 4
Options :
22742785909. 1
22742785910. 2
22742785911. 3

22742785912. 4
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Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

227427859009. 1
22742785910. 2
22742785911. 3

22742785912. 4

Question Number : 54 Question Id : 22742722052 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

The case of Vishakha and others vs State of Rajasthan is with reference to which of the following Act?

1. Dowry Prohibition Act

2. Immoral Traffic Prevention Act

3. Sexual Harassment of Women at work place Act (Prevention, Prohibition and Redressal ) Act.
4 Indecent Representation of Women (Prohibition) Act

Options :
22742785913. 1
22742785914. 2

22742785915. 3
22742785916. 4

Question Number : 54 Question Id : 22742722052 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742785913. 1
22742785914. 2
22742785915. 3

22742785916. 4

Question Number : 55 Question Id : 22742722053 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0



When was the Convention relative to the treatment of the prisoners of war approved in Geneva?

1. On August 12, 1949
2. OnAugust 30, 1945
3. On December 7, 1979
4 On October 18, 1907
Options :
22742785917. 1
22742785918. 2
22742785919. 3

22742785920. 4

Question Number : 55 Question Id : 22742722053 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742785917. 1
22742785918. 2
22742785919. 3

22742785920. 4
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Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Human Right committee draws it competence to consider a complaint from

_Articles 28 ICCPR

. Second optional Protocol of ICCPR
. General secretary of UN

. UDHR 1943

[

o

Options :

22742785921. 1
22742785922. 2
22742785923. 3
22742785924. 4

Question Number : 56 Question Id : 22742722054 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742785921. 1
22742785922. 2
22742785923.3

22742785924. 4
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Minimum Instruction Time: 0
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Which of the following is a book not authored by Mohandas Karamchand Gandhi?

. Hind Swaraj

. Sarvodaya

- Revisiting Hind Swaraj

. Satyagraha in South Africa

[ L

F =9

Options :

22742785925. 1
22742785926. 2
22742785927. 3

22742785928. 4

Question Number : 57 Question Id : 22742722055 Question Type : MCQ Option Shuffling : No
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Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742785925. 1
22742785926. 2
22742785927.3

22742785928. 4
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Which of the provisions of the UN charter mentions about UN intervention in matters essentially within the domestic jurisdiction
of any state?

1. Article 2, paragraph 2.
2. Article

3. Article 2, paragraph 7.
4. Article 12, paragraph 1.
Options :
22742785929. 1
22742785930. 2
22742785931. 3

22742785932. 4

Question Number : 58 Question Id : 22742722056 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742785929. 1
22742785930. 2
22742785931. 3

22742785932. 4
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The National Commission for Minorities Act came into force on

1. 12 January 1978
2. 10 December 1990
3. 19 August 2002

4 17 May 1992
Options :
22742785933. 1
22742785934. 2
22742785935. 3

22742785936. 4

Question Number : 59 Question Id : 22742722057 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742785933. 1
22742785934. 2
22742785935. 3

22742785936. 4
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Which of the following generations of Human Rights are concerned with economic social and Cultural Right?

1¥! Generation
2M Generation
3" Generation
4. 4" Generation

1.
2
3

Options :

22742785937. 1
22742785938. 2
22742785939. 3

22742785940. 4

Question Number : 60 Question Id : 22742722058 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742785937. 1
22742785938. 2
22742785939. 3

22742785940. 4
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Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



In which year did the increase in the number of the UN security council from 11 to 15 members come into force?

Options :

22742785941. 1
22742785942. 2
22742785943. 3
22742785944. 4

Question Number : 61 Question Id : 22742722059 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. 1965

21963

3. 1967

4 1961
Options:
22742785941. 1
22742785942. 2
22742785943.3

22742785944, 4
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In which case has the supreme court of India explicilly recognised the pre precautionary any principle as a principle of Indian
environmental law?

1. Vellore citizens welfare forum v. Union of India
2. Franc’s Goralie Mullin v. Union Territory of Delhi
3. Olga Tellis v. Bombay Municipal Corporation

4 Minerva Mills v. Union of India

Options :

22742785945. 1

22742785946. 2
22742785947. 3

22742785948. 4

Question Number : 62 Question Id : 22742722060 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742785945 1
22742785946 2
22742785947. 3

22742785948. 4
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Which one of the following recommended reservation to the OBC's?

_ Sarkaria Commission

- Mandal Commission

- Radha Krishnan Commission
. Sapru commission

[

o

Options :

22742785949. 1
22742785950. 2
22742785951. 3
22742785952. 4

Question Number : 63 Question Id : 22742722061 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742785949. 1
22742785950. 2
22742785951. 3

22742785952. 4
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A special session of the UN General Assembly may be called by the Secretary General as occasion may require. This is
provided for under of the UN Charter.

1. Aricle 14

2 Article 17

3 Article 20

4 Article 25
Options :
22742785953. 1
22742785954, 2
22742785955. 3

22742785956. 4

Question Number : 64 Question Id : 22742722062 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742785953, 1
22742785954, 2
22742785955. 3

22742785956. 4
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The final proclamation of which conference held in 1968 declares that, “Since human rights and fundamental freedoms are
indivisible, the full realisation of civil and political rights without the enjoyment of economic, social and cultural rights is
impossible™?

1. International Human Right Conference, Teheran
2. World Conference on Human Rights, Vienna

3. World Human Rights Summit, Geneva

4. Global Conference on Human Rights, New York

Options :

22742785957. 1
22742785958. 2
22742785959. 3

22742785960. 4

Question Number : 65 Question Id : 22742722063 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742785957. 1
22742785958. 2
22742785959. 3

22742785960. 4

Question Number : 66 Question Id : 22742722064 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
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Correct Marks : 2 Wrong Marks : 0

Which Government of India Act made provision for the establishment of a public service commission?

1. Indian Council Act of 1861

2. Indian Council Act of 1892

3. Indian Council Act of 1909

4 Government of India Act of 1919
Options :

22742785961. 1
22742785962, 2
22742785963. 3

22742785964. 4

Question Number : 66 Question Id : 22742722064 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742785961. 1
22742785962. 2
22742785963. 3
22742785964. 4

Question Number : 67 Question Id : 22742722065 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
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The covenants to UDHR and their authentic text in other language are deposited in

1. USA imperial building
2. UN Archives

3. Vault in white House
4. Buchingham palace
Options :
22742785965. 1
22742785966. 2
22742785967. 3

22742785968. 4

Question Number : 67 Question Id : 22742722065 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742785965. 1
22742785966. 2
22742785967. 3

22742785968. 4
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Minimum Instruction Time: 0
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What was the basic reason for the class action petition known as Vishaka v. State of Rajasthan ?

1. No provision for filing an FIR in such cases

2. Absence of statutory law for prevention of sexual harassment of women at work place

3. Patriarchal institutional structures that prevents women from enjoying gainful employment.
4 Low self-esteem of women fo fight their own battles

Options :

22742785969. 1
22742785970. 2
22742785971. 3

22742785972. 4

Question Number : 68 Question Id : 22742722066 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
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Options:

22742785969. 1
22742785970. 2
22742785971.3

22742785972. 4
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African committee on Human and People Right (ACMHPR) is based on?

. Pretona
- Sudan

- Gambia
- Rwanda

[ s

o

Options :

22742785973. 1
22742785974. 2
22742785975. 3

22742785976. 4

Question Number : 69 Question Id : 22742722067 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
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Options:
22742785973 1
22742785974, 2
22742785975. 3

22742785976. 4
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Which article of UN charter authorises UN Economic and Social Council to make suitable arrangements with Non-Governmental
organisation for consultation?

1. Aicle 71

2 Article 74

3. Article 53

4 Article 24
Options :
22742785977. 1
22742785978. 2
22742785979. 3

22742785980. 4

Question Number : 70 Question Id : 22742722068 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742785977. 1
22742785978. 2
22742785979. 3

22742785980. 4
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So far how many terms have been completed by India, that is Bharat as non-permanent member of the UN Security Council?

1. Nine terms

2. Eight terms

3 Seven ferms

4 Six terms
Options :
22742785981. 1
22742785982, 2
22742785983. 3

22742785984. 4

Question Number : 71 Question Id : 22742722069 Question Type : MCQ Option Shuffling : No
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Options:
22742785981. 1
22742785982. 2
22742785983. 3

22742785984. 4
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Which part of the Constitution explicitly has root of establishing a social democracy in India?

1. The Preamble

2. The Directive Principles of State Policy
3. Fundamental Right

4. Fundamental Duties

Options :

22742785985. 1
22742785986. 2
22742785987. 3
22742785988. 4

Question Number : 72 Question Id : 22742722070 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0
YR GHISIe Tl 1 AT ol e YPad SiauH & fod i H 82

1. Jel@
2. g & Hifd Fe=e oo
3. Hifeid ATHR

4 Hifdd ddA

Options:

22742785985. 1
22742785986. 2
22742785987. 3

22742785988. 4
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Origination of American States was established in.
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Options :

22742785989. 1
22742785990. 2
22742785991. 3

22742785992. 4
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Options:

22742785989. 1
22742785990. 2
22742785991. 3
22742785992. 4

Question Number : 74 Question Id : 22742722072 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Indian citizens abroad cannot claim benefits of right guaranteed under ICERD and CEDAW because.

1. India is excluded from their jurisdiction

2. Government of India has ratified CERD/CEDAW with reservations
3. India has not ratified the conventions.

4. India has given up the above benefit

Options :

22742785993. 1
22742785994. 2
22742785995. 3
22742785996. 4

Question Number : 74 Question Id : 22742722072 Question Type : MCQ Option Shuffling : No
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Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

S U3 AR S 0 T S 3 U ST & S MR ARG (e B PR ST SN Ta) &Y G & N

1. YRd P! HHIN U IR &

2. RO WER A 37 U3 AR S WS S0 Sy 31 AUl ied v a3
3. HIRG = AT &1 fFH TRl o g

4 HRA = 9 ST Y HeH U E

Options:

22742785993. 1

22742785994, 2

22742785995. 3

22742785996. 4
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Who were the "Big Three” who played lead role in designing the new organization- United Nations?

1. France, UK USA

2. Soviet Union, USA UK
3. China, Soviet Union, USA
4 USA France China
Options :
22742785997. 1
22742785998. 2
22742785999. 3

22742786000. 4
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Options:

22742785997. 1

22742785998. 2

22742785999. 3

22742786000. 4
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Which of the following commission made ‘sustainable development’ a widely accepted term?

1. Brunt Land Commission Report
2. Hoover Commission

3. Lee Commission

4. Human Rights Commission
Options :

22742786001. 1
22742786002. 2
22742786003. 3

22742786004. 4
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Options:

22742786001. 1
22742786002. 2
22742786003. 3

22742786004. 4
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Which of the following human rights do not fall within UNESCO'S competence?

1. Communication

2. Scientific advancement

3. Cultural

4. Information and Technology

Options :

22742786005. 1
22742786006. 2
22742786007. 3

22742786008. 4
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Options:

22742786005. 1
22742786006. 2
22742786007. 3

22742786008. 4
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Which country held the earth summit in 19927

- Kenya

. Morocco

_ South Africa
. Brazil

[ s

o

Options :

227427860009. 1
22742786010. 2
22742786011. 3

22742786012. 4
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Options:

227427860009. 1
22742786010. 2
22742786011.3

22742786012. 4
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In which year did the largest gathering of world leaders in history assemble at the United Nations to attend the first exclusive
World Summit for discussing Children’s issues?

091
09
09

.

990

| |

1.1
2.1
31
41

(]

Options :

22742786013. 1
22742786014. 2
22742786015. 3
22742786016. 4
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22742786013. 1
22742786014. 2
22742786015. 3

22742786016. 4
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defined dehumanization as a form of collectively shared delegitimized belief in which a group is given & subhuman or
demonic label

1. Schwartz and struch

2 Bar-Tal

3. Bandura

4. Optow

Options :
22742786017. 1
22742786018. 2
22742786019. 3

22742786020. 4
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22742786017. 1
22742786018. 2
22742786019. 3

22742786020. 4
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Which treaty / covenant does not determine periodicity of state party reports leaving decision to treaty body itself?

1.ICCPR

2 ICESCR

3. CEDAW

4 CRC

Options :
22742786021. 1
22742786022. 2
22742786023. 3

22742786024. 4
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22742786021. 1
22742786022. 2
22742786023. 3

22742786024. 4
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Name the committee which suggested the incorporation of Duty to pay taxes should be a fundamental Duty of the citizens’ in
the Constitution?

1. Vohra committee

2. Verma Committee

3. Swaran Singh Committee
4 Malimath Committee
Options :
22742786025. 1
22742786026. 2
22742786027. 3

22742786028. 4

Question Number : 82 Question Id : 22742722080 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

B & YA B Bacd RS &1 41 Bacd A1 deT- TaUH & TH1ied 30 9 & ¢ arel G &1 11 aizd?

1, gV Il

D T g

3 Ul fife T

4 Ty gl
Options:
22742786025. 1
22742786026. 2
22742786027. 3

22742786028. 4
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Which article in the UN convention on the Rights of the Child (UNCRC) confers " right to participate in all matters affecting
them’?

1. Adicle 10

2 Article 12

3 Article 3

4 Article 31
Options :
22742786029. 1
22742786030. 2
22742786031. 3

22742786032. 4
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22742786029. 1
22742786030. 2
22742786031. 3

22742786032. 4
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Radical Feminism propagates which of the following ?

1. Androcentricism
2. Gynocentricism
3. Polycentricism

4 Monocentricism

Options :

22742786033. 1
22742786034. 2
22742786035. 3

22742786036. 4

Question Number : 84 Question Id : 22742722082 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742786033. 1
22742786034, 2
22742786035. 3

22742786036. 4
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Who coined the term “Judicial Activism” for the first time?

1. Justice O. Chinnappa Reddy
2. Arthur Schlesinger Jr.

3. John Marshall

4. Arthur Schlesinger Sr.
Options :

22742786037. 1
22742786038. 2
22742786039. 3

22742786040. 4
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22742786037. 1
22742786038. 2
22742786039. 3

22742786040. 4
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Which of the following best defines the function of ‘standard settings” in human rights diplomacy?

1. Putting forward non-binding legal standards

2. Putting forward binding legal standards

3. Setting the standard for conduct of human rights treaties
4. Just/only proposing binding legal standards

Options :

22742786041. 1
22742786042. 2
22742786043. 3

22742786044. 4

Question Number : 86 Question Id : 22742722084 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742786041. 1
22742786042. 2
22742786043. 3

22742786044. 4
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International conference of Human Rights 1968 is popularly called?

1. Beijing conference
2. Tehran conference
3 Vienna conference
4 Helsinki accord
Options :
22742786045. 1
22742786046. 2
22742786047. 3

22742786048. 4
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Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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22742786045. 1
22742786046. 2
22742786047.3

22742786048. 4
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Who highlighted that Rawl’s theory of Justice is culture specific and appropriate only for liberal democracies?

1. Michael Walzer

2 Michael Sandel

3. C.B. Macpherson
4 Susan Moller Okin
Options :
22742786049. 1
22742786050. 2
22742786051. 3

22742786052. 4
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22742786049. 1
22742786050. 2
22742786051. 3

22742786052. 4
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Which one of the following political thinkers referred to Gandhi's editorial in the Harijan (21, October 1939, "The Fictional
Majority”) and argued that in India, the scheduled caste were the real minority among minorities?

1. Ram Manohar Lohia

2. Vinayak Damodar Savarkar
3. Dr. Babasahab Ambedkar
4. Jaya Prakash Narayan
Options :
22742786053. 1
22742786054. 2
22742786055. 3

22742786056. 4

Question Number : 89 Question Id : 22742722087 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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22742786053. 1
22742786054. 2
22742786055. 3

22742786056. 4
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Who has introduced 'Gaia hypothesis’ in the content of Ecology?

1. James Lovelock

2. Alexander von Humbolt
3. Peter J. Stoiet

4 F N. Egerton

Options :

22742786057. 1
22742786058. 2
22742786059. 3
22742786060. 4
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22742786057. 1
22742786058. 2
22742786059. 3

22742786060. 4

Question Number : 91 Question Id : 22742722089 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



With regard to minorities in India, consider the following statements:

A Indian constitution recognizes group rights of minorities based on religion and linguistic basis.
B. There is no legal provision for women within minorities to criminalize religious discrimination.
C. Jains were accorded minority status in 2014.

D. There is no provision for the upliftment of minorities in the Indian Constitution.

Choose the correct answer from the options given below:

1. Aand B Only
2. Aand C Only
3. Band C Only
4 A BandD Only

Options :

22742786061. 1
22742786062. 2
22742786063. 3

22742786064. 4
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22742786061. 1
22742786062. 2
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Which of the following options are correct in the Surrogacy Regulation Act 20217

A. The embryo means developing or developed organism before fertilization till the end of 56 days.

B. Egg includes the female gamete.

C. Couple means the legally married Indian Man or woman above the age of 21 and 18 respectively

D Altruistic surrogacy means the surrogacy in which no fees, remuneration or monetary incentive is involved.
Choose the correct answer from the options given below:

1.8, Cand D Only
2.A BandC Only
3. Cand D Only
4 Aand D Only

Options:

22742786065. 1
22742786066. 2
22742786067. 3

22742786068. 4
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22742786065. 1
22742786066. 2
22742786067. 3
22742786068. 4
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Which of the following statement are true in respect of European court on Human Rights (ECEHR)
A. The court has jurisdiction to decide cases brought by high contracting parties.

B. The court looks into individual applications brought before it any time after final decision.

C. The ECEHR shall not deal with any application which has been substantially examined earlier
D. The ECEHR deals with the matter only after all domestic remedies are exhausted.

Choose the most appropriate answer from the options below:

1.B, Cand D Only
2. A BandC Only
3. A CandD Only
4 B,DandAOnly

Options :

22742786069. 1
22742786070. 2
22742786071.3

22742786072. 4
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Options :

22742786069. 1
22742786070. 2
22742786071.3
22742786072. 4
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Globalization has affected the working class in India in many ways. In this content consider the following statements:
A. The state has made many welfare schemes for working class.

B. Information of labour has increased after globalization.

C. Working class in India is divided along party lines and has impacted their collective action potential.

D. Has weekend labours unions.

Choose the correct from the options given below:

1.Band C Only
2. Aand B Only
3. Band C Only
4 Aand B Only

Options :

22742786073. 1
22742786074. 2
22742786075. 3
22742786076. 4
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22742786073. 1
22742786074. 2
22742786075. 3
22742786076. 4

Question Number : 95 Question Id : 22742722093 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following decisions represent PlLs (Public Interest Litigation) that deal with human rights issues
A Vishaka v/s State of Rajasthan

B. Kamesh Panjiyar v/s State of Bihar

C. Olga Tellis v/s Bombay Municipal Corporation

D. Hussainnara Khatoon v/s State of Bihar

E. Consumer Education Research Centre vis UO .|

Choose the most appropriate answer from the options given below:

1.A B, Dand E Only
2.B,CDand E Only
3. A, C, DandE Only
4 A, B, CandD Only

Options :

22742786077. 1
22742786078. 2
22742786079. 3

22742786080. 4
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22742786077. 1
22742786078. 2
22742786079. 3
22742786080. 4
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Which of the following isfare not for the world wide Governance Indicators devised by world Bank
A. Regulatory Quality

B. Political Stability and lack of violence.

C. Government Responsiveness

D. Government Effectiveness

E. Transparency and Accountability

Choose the most appropriate answer from the options given below:

1.B, Cand D Only
2.B,C,DandE Only
3.A BandD Only

4. C and E Only

Options :

22742786081. 1
22742786082. 2
22742786083. 3
22742786084. 4
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22742786081. 1
22742786082. 2
22742786083. 3

22742786084. 4
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Which of the following are correct with respect to access to medicines Is terms of patents:
A. Patent facilitates access to medicine.

B. Compulsory licensing mechanism prevents abuse of patents.

C. Stringent patent protection creates impediments in access to medicine.

D. Patent and medicine has no nexus.

E. Patent laws allow only process patent for medicines.

Choose the most appropriate answer from the options given below:

1. Aand B Only
2. Dand E Only
3. Band C Only
4 Aand E Only

Options :

22742786085. 1
22742786086. 2
22742786087. 3

22742786088. 4
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22742786085. 1
22742786086. 2
22742786087. 3
22742786088. 4
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The new social movement theory has specially highlighted the following socials issues.
A_Issues of ldentity

B. Culture and lifestyle

C. Issues of Migration and Drug addiction

D. Issue of Dowry

Choose the most appropriate answer from the options given below:

1. Aand C Only
2. Cand D Only
3. Aand B Only
4. C and B Only

Options :

22742786089. 1
22742786090. 2
22742786091. 3

22742786092. 4
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The parliamentary privileges of MPs under the article 105 of the constitution of India are undermining which of the following?
A Freedom of expression

B. Natural justice

C. Separation of powers

D. Constitutionalism

Choose the most appropriate answer from the options given below:

1.Aand C Only
2. AOnly

3.A Band C Only
4.B,Cand D Only

Options :

22742786093. 1
22742786094. 2
22742786095. 3

22742786096. 4
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Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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3. HadA B ARG
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Options :
22742786093. 1
22742786094, 2
22742786095. 3

22742786096. 4

Question Number : 100 Question Id : 22742722098 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



‘UN Special procedures’ refers to which of the following?

A. Special rapporteur / representation

B. independent expert and working group

C. Process laid down in protocol

D. communication by UN general secretary

Choose the most appropriate answer from the options given below:

1. Aand B Only
2. B and C Only
3. Cand D Only
4 Aand D Only

Options :

22742786097. 1
22742786098. 2
22742786099. 3
22742786100. 4

Question Number : 100 Question Id : 22742722098 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742786097. 1
22742786098. 2
22742786099. 3
22742786100. 4

Question Number : 101 Question Id : 22742722099 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are functions of national commission for protection of child rights (NCPCR)?

A To enquire into violations of child rights

B. To look into the matters relating to children in need of special care and protection

C. To enquire and speed up child right matters which are pending before other duly constituted commisions.
D. To undertake and promote research in the field of child rights.

Choose the most appropriate answer from the options given below:

1.A Band C Only
2.A CandD Only
3.B,CandD Only
4 A BandD Only

Options :

22742786101. 1
22742786102. 2
22742786103. 3
22742786104. 4

Question Number : 101 Question Id : 22742722099 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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3. BddB, CARD
4 BadA B3R D

Options :

22742786101. 1
22742786102. 2
22742786103. 3
22742786104. 4

Question Number : 102 Question Id : 22742722100 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are key international environmental agreement that IUCN congresses have produced?
A CBD

B. TRIPS

C. CITES

D. CESCR

E. World Heritage Convention

Choose the most appropriate answer from the options given below:

1.A, Cand E Only
2.A BandD Only
3. B, Cand D Only
4 A, CandD Only

Options :

22742786105. 1
22742786106. 2
22742786107. 3

22742786108. 4

Question Number : 102 Question Id : 22742722100 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742786105. 1
22742786106. 2
22742786107. 3

22742786108. 4

Question Number : 103 Question Id : 22742722101 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statements are correct with reference 1o a ‘soft sate™?
A Selective use or absence of use of coercive instruments and power of the state

B. Introduced by Gunnar Myrdal in ‘Asian Drama’ to describe the indiscipline prevalent in Asia and by extension the
development world

C. Alenient attitude of state towards social deviance
D. state apparatus uses manifest or latent physical and mental corrosion
Choose the most appropriate answer from the options given below:

1.A Band C Only
2.B,Cand D Only
3. Aand D Only
4 Band C Only

Options :

22742786109. 1
22742786110. 2
22742786111.3

22742786112. 4

Question Number : 103 Question Id : 22742722101 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742786109. 1
22742786110. 2
22742786111.3

22742786112. 4

Question Number : 104 Question Id : 22742722102 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following is NOT a subsidiary body of the UN security council?
A_ International Criminal Tribunal for Rwanda

B. International Law Commission

C. International Criminal Tribunal for the former Yugoslavia

D. united Nations Interregional Crime and Justice Research Institute.
Choose the most appropriate answer from the options given below:

1. Band C Only
2. D and A Only
3. B and D Only
4 B, Cand D Only

Options :

227427861131
22742786114. 2
22742786115. 3
22742786116. 4

Question Number : 104 Question Id : 22742722102 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

227427861131
22742786114. 2
22742786115. 3

22742786116. 4

Question Number : 105 Question Id : 22742722103 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ASEAN was established in 1967, which of the following countries were amongst founding members?
A_Indonesia

B. Malaysia

C. Singapore

D. Vietnam

E. Thailand

Choose the most appropriate answer from the options given below:

1.A B, CandD Only
2.B,C, D and E Only
3.A B, Cand E Only
4. A C,DandE Only

Options :

22742786117. 1
22742786118. 2
22742786119. 3

22742786120. 4

Question Number : 105 Question Id : 22742722103 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742786117. 1
22742786118. 2
22742786119. 3
22742786120. 4

Question Number : 106 Question Id : 22742722104 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Consider the following statements with regard to the relationship between caste and polity in India after Independence.

A The relationship between caste and politics in India has exposed the contradictions between inscriptive and achieved forms of
life.

B. Caste commission have effectively employed electoral polities to secure their democratc rights
C. The term “politicization of caste’ is associated with M.N Srinivas
D. Stagnation of interconnections of different castes

Choose the most appropriate answer from the options given below:

1. Aand B Only
2. Aand C Only
3. Aand B Only
4 Cand D Only

Options :

22742786121. 1
22742786122. 2
22742786123.3

22742786124. 4

Question Number : 106 Question Id : 22742722104 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742786121. 1
22742786122. 2
22742786123.3

22742786124. 4

Question Number : 107 Question Id : 22742722105 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following comprises the five aspects to sustainable human development from the UNDP perspective
A. Sanitation

B. Empowerment and cooperation

C. Equity & sustainability

D. Security

E. Democratic governance

Choose the most appropriate answer from the options given below:

1.A, B and E Only
2.B, Cand E Only
3.C, DandE Only
4.B,Cand D Only

Options :

22742786125. 1
22742786126. 2
22742786127. 3
22742786128. 4

Question Number : 107 Question Id : 22742722105 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742786125. 1
22742786126. 2
22742786127. 3
22742786128. 4

Question Number : 108 Question Id : 22742722106 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following articles in the constitution of India represent constitutional safequards of the marginalised &
weaker sections.

A Article 46

B. Article 30

C. Atticle 254

D. Atticle 330

E.Aicle 340

Choose the correct answer from the options given below:

1.A B, D and E Only
2.A, C DandE Only
3.B,C, Dand E Only
4 A B,CandD Only

Options :

22742786129. 1
22742786130. 2
22742786131.3

22742786132. 4

Question Number : 108 Question Id : 22742722106 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742786129. 1
22742786130. 2
22742786131.3
22742786132. 4

Question Number : 109 Question Id : 22742722107 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following is correct regarding the verdict given by former Justice Chelameswar pertaining to nullify the National
Judicial Appointments Commission Act.

A He denied the importance of judicial independence

B. Primacy of the judiciary in appointments is not exclusive route to independence of judiciary

C. Achange to a single basic features may not necessarily destroy the basic structure of the Constitution
D. Achange to a single basic features may destroy the basic structure of the Constitution

E. He did not deny the importance of judicial independence

Choose the correct answer from the options given below:

1.B,C, Dand E Only
2.B,Cand E Only
3.A,B,Cand D Only
4.C,Dand E Only

Options :

22742786133. 1
22742786134. 2
22742786135. 3

22742786136. 4

Question Number : 109 Question Id : 22742722107 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742786133. 1
22742786134. 2
22742786135. 3

22742786136. 4

Question Number : 110 Question Id : 22742722108 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The right to manage religious affairs consists of which of the following rights?
A. Right to establish institutions for religious purposes

B. Right to manage its own affairs

C. Right to own and acquire property

D. Right to propagate religions beliefs

E. Right to administer property of religions institutions

Choose the correct answer from the options given

1. Aand B Only

2. A B, CandE Only
3. C, Dand E Only

4 A B, CandD Only

Options :

22742786137. 1
22742786138. 2
22742786139. 3
22742786140. 4

Question Number : 110 Question Id : 22742722108 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742786137. 1
22742786138. 2
22742786139. 3

22742786140. 4

Question Number : 111 Question Id : 22742722109 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following isfare not a case of child rights violation?

A child marriage arranged by parents.

B. Child who works in a hotel

C. Child forced to go to school

D. Induced abortions/Female feticide

E. Loving & caring of a child.

Choose the most appropriate answer from the options given below:

1. Aand B Only
2. Cand E Only
3. D and A Only
4. C and B Only

Options :

22742786141. 1
22742786142. 2
22742786143. 3

22742786144. 4

Question Number : 111 Question Id : 22742722109 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742786141. 1
22742786142. 2
22742786143. 3

22742786144. 4

Question Number : 112 Question Id : 22742722110 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statements holds true in relation to infernational crimes?
A Individuals as well as states may be responsible for intemational crimes
B. Counterfeiting was recognised as an international crime during the time of the league of Nations

C. The absence of any permanent integrational criminal court had led states to establish ad hoc tribunals from time to time to
prosecute offenders during earlier times.

D. Genocide is yet to be reported as an international crime.

E_Classical international law did not focus much attention towards the international crimes as individuals were freated as
objects of international law rather than its subjects.

Choose the most appropriate answer from the options given below:

1.A,B, Cand D Only
2.A B, DandE Only
3.A, B, Cand E Only
4.B,C, Dand E Only

Options :
22742786145. 1
22742786146.
22742786147.

A W N

22742786148.

Question Number : 112 Question Id : 22742722110 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1 $q0A B,C, iRD
) Bq0A B, D, dRE
3 9q0A B, C, dRE
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Options :
22742786145. 1
22742786146.

22742786147.

A W N

22742786148.

Question Number : 113 Question Id : 22742722111 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are principles proclaimed as part of the Rio declaration on environment and development?

A Human beings are at the centre of all development activiiies and the environment is subservient to such developmental
activities.

B. Human beings are entifled to a healthy and productive life in harmony with nature.
C. Human beings are at the centre of concerns for sustainable development,

D. The right to development must be fulfilled so as to equitably meet developmental and environmental needs of present and
future generations.

E. Inorder o achieve sustainable development environmental protection shall constitute an integral part of the development
process and cannot be considered in isolation from it

Choose the correct answer from the options given below:

1.A,B, Cand D Only
2.A, C DandE Only
3.B,C, Dand E Only
4 A B,DandE Only

Options :
22742786149. 1
22742786150.
22742786151.

A W N

22742786152.

Question Number : 113 Question Id : 22742722111 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1 $q0A B,C, iRD
2 BaA C.D HRE
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Options :

22742786149. 1
22742786150. 2
22742786151.3
22742786152. 4

Question Number : 114 Question Id : 22742722112 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The economic and social council is tasked with which of the following?

A Serving as the central forum for dismissing international economic and social issues, and for formulating policy
recommendations addressed to member states and the United Nation System.

B. Making or initiating studies and reports and making recommendations on international economic, social, cultural, educational,
health and related matters.

C. Promoting respect for, and observance of, human rights and fundamental freedoms

D. Coordinating the activities of the specialized agencies through consultations with and recommendations to them as well as to
the General Assembly

E. Recognition of political sovereignty of member states and non-member states of the United Nations
Choose the correct answer from the options given below:

1.A,C, D and E Only
2.A B, CandD Only
3.B,C, Dand E Only
4 A B,DandE Only

Options :
22742786153. 1
22742786154.
22742786155.

A W N

22742786156.

Question Number : 114 Question Id : 22742722112 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742786153. 1
22742786154,

22742786155.

A W N

22742786156.

Question Number : 115 Question Id : 22742722113 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Crimes against humanity includes which of the following acts when committed as part of & widespread or systematic attack
directed against any civilian population, with knowledge of the attack:

A Murder

B. Extermination

C. Nationalisation of property
D. Enslavement

E Torture

Choose the correct answer from the options given below:

1.A,B, Cand D Only
2.A B, DandE Only
3.B,C, Dand E Only
4 A C DandEOnly

Options :

22742786157. 1
22742786158. 2
22742786159. 3

22742786160. 4

Question Number : 115 Question Id : 22742722113 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



BHCl 1 I Wi g oafaad] o fa T ] JoTaIieyd Get o fow o 0§ @I Fgciaa fa g 1 ATl
T Y H T ol e

Aedl

B. fatw

C. Hafel 1 e
D, T

E. JUTA (VrST)

1.5 A B.C. 3RD

) $dGA B.D. 3RE
3. $90B.C.D IRE

4 $9GA C.D IRE
Options :
22742786157. 1
22742786158. 2
227427861509. 3

22742786160. 4

Question Number : 116 Question Id : 22742722114 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List — | with List —

List—1 List—1I
Committees Chairpersons

A. Fundamental Right Sub-Committee|l. H.C. Mukherjee

B. Adhoc Committee on Citizenship  |Il. Dr. Rajendra Rrasad
C. Steering Committee ll. 5. Varadachari
D. Minorities Sub-Commitiee V. J.B. Kripalani

Choose the correct answer from the options given below:

1A-II,B-IVC—-I1 D=1l
2A-IVB-IlL.C-Ill,D-]
3JA-IVB-Il,C-1l,D-]
4 A-llLB-IllLC-I, D=1V
Options :

22742786161. 1
22742786162. 2
22742786163. 3

22742786164. 4

Question Number : 116 Question Id : 22742722114 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Tl | ' 1Y 1| BT AeE difee

I | Gl
SiEin] ST

A. Aifers HSeR 39 — SHf). T 3. @l
B. AT g aed It | =1 Tes vEE
c. A afafa lIl. O9. SRerERt
D. eqd®d 3 - giafd |1V, o & HuaE
T feu 7Tu fqaedl O ¥ 981 SR &1 994 Difort:

1. Al B-IV, C-l, D-lI
2. A-IV, B-Il, C-llI, D-I
3. A-IV, B-Ill, C-lI, D-l
4 A-ll, B-lll, C-l, D-IV



Options :

22742786161. 1
22742786162. 2
22742786163. 3
22742786164. 4

Question Number : 117 Question Id : 22742722115 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List — | with List — I

List —1 List — I
Fni%cs.cphe-*f HEoR
Theorist

A. Maria Mies |. Utilitarianism

B. Michael Sandel|ll. Ecofeminism

C. Foucault Hl. Communitarianism

D. Bentham . Post Structuralism

Choose the correct answer from the options given below:

1.A-IILB-ILC-IV,D-1|
2A-1.B-1I,LC-ll,D-IV
3A-1LB-,C-IV.D-1l
4 A-1,B-1,C-IND-Il
Options:

22742786165. 1
22742786166. 2
22742786167.3

22742786168. 4

Question Number : 117 Question Id : 22742722115 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Tt | & 91y 1| &1 FAeE sifoe

gl | il
A Fm ffEs || SuEiamEE!
B. AEST 95T |Il. TIY- AREE!

C. Gid! Il SR aaE
D. §YH IV, ST SgmaG
A feu U f[d@edl 4 © el 3R &1 90 DI

1. AL, B-lll, C-IV, Dl
2 Al B-ll, CII, DIV
3. Al B-1, C-IV, DAl
4 Al B-I, C-IV, D-lI
Options :
22742786165. 1
22742786166. 2
22742786167. 3

22742786168. 4

Question Number : 118 Question Id : 22742722116 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List— | with List - | Match the following provisions and sections in the right of protection of Human Right Act, 1993

List—1 List -1l
Provision 3ection
A. Human Right Courts |. Section 21
B. State Human Right Commission Il. Section 3

C. Special Public Prosecutors for Human Right Courts|lll. Section 30

D. Constitution of National Human Right Commission |IV. Section 31

Choose the correct answer from the options given below:

1.A-1.B-ll,C-IV.D-Il
2.A-1I,B-1,C-IV.D-II
3. A-IIlLB-1,C-IV,D-Il

4 A-Ill.B-IIl.C-1,D-IV



Options :

22742786169. 1
22742786170. 2
22742786171. 3

22742786172. 4

Question Number : 118 Question Id : 22742722116 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Tl 1 o Ty 1| o AT CHaTcR SR YT, 1993 & W FHafiiad s i yrie & gafd S

Tl | il
Iy I

A AFGT@R AR | 4RT-21
C. AR AR d [0 (=i ool &RT- 30
D. 1T AT @R 3R & gy V. 4R - 31
rd TG T foed! 0 ¥ ) S @1 94 DIl

1. Al Bl C-IV, D-Il

2. Al B-l C-IV, DIl

3. Al B-1, C-IV. D-Il

4. Al B-Il, C-I. D-IV

Options:

22742786169. 1
22742786170. 2
22742786171.3

22742786172. 4

Question Number : 119 Question Id : 22742722117 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List — | with List —

List—1 List—1I
Author/Names Conceptsitheories

A_ Samuel P. Huntington|l. over developed state

B. Hamza Alni ll. Political Decay
C. Samir Amin ll. Soft State
D. Gunnar Myrdal IV, Unegual Exchange

Choose the correct answer from the options given below:

1A-I,B-1,C-IV.D-Il
2A-1,B-1ILC-Il,D=-1IV
3JA-IVB-Il,C-1l,D-]
4 A-llLB-1,C=IV. D=1l
Options :

227427861731
22742786174. 2
22742786175. 3

22742786176. 4

Question Number : 119 Question Id : 22742722117 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Tl | ' 1Y 1| BT AeE difee

T | il

A. T 0. gfeten|. i s up

B. SO e || TS HOEy

C. THR 3HH= Il T IF (G ')
D. AR fisa IV, EEH A

4 feu U fawcdl § © U981 IR &I 99 HIfalu:

1. AL B-l, C-IV, D-lI
2. A, B-ll, C-lIl, D-IV
3. A-IV, B-Ill, C-lI, D-|
4 A-ll, B-l, C-IV, D-IlI



Options :

22742786173. 1
22742786174. 2
22742786175. 3

22742786176. 4

Question Number : 120 Question Id : 22742722118 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List — | with List -l

List—1 List -1l

Acts Proposed Bill

A_Evidence Act |. The Anusandhan National Research Foundation Bill
B.IPC lI. Bharatiya Nagarik Suraksha Sanhita

C. Science and Engineering (Research Board Act)|lll. Bharatiya Sakshya Bill

D. CrPC IV. Bharatiya Nyaya Sanhita

Choose the correct answer from the options given below:

1.A-IILB-IV,C-1D-Il
2A-1,B-I,C-1,D-IV
JA-ILB-IV,C-1l,D-I
4 A-1,B-IV,C-1llLD-1
Options:
22742786177. 1
22742786178. 2
22742786179. 3

22742786180. 4

Question Number : 120 Question Id : 22742722118 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Tt | & 91y 1| &1 FAeE sifoe

Ll il

faam EESICCAEERES

A H1&g sffafan | S TP Y BrieyH fadus
B. HRd GUS Higd II. HIET g AT GI&T

C. SF9YH a18 fa9F R aftmifest|i. yRdia we fadas

D. GUS Wishd1 Ffgar IV, HRdTa = g

=1 U 7T fodedl 7 © 9ol ST &1 99 I

1. Alll, B-IV, C-1, D-lI
2. Al B-lIl, C-, DIV
3. Al B-IvV, C-ll, DI
4 Al B-IV, C-lll, D-lI
Options :
22742786177. 1
22742786178. 2
22742786179. 3

22742786180. 4

Question Number : 121 Question Id : 22742722119 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List — | with List — Il

List -1 List—11

Acts Proposed Bill
A. Committee on Elimination of Discrimination against Women|l. 1991

B. Committee on Right of Child 1. 1982

C. Committee on Right of person with Disabilities 1. 2008

D. Committee on elimination of Racial Discrimination V. 1969

Choose the correct answer from the options given below:

1.A-ILB-1,C-Ill,D-IV
2A-1,B-IlLC-IV,D-1l
JA-ILB-IV,C-Il,D-|
4 A-IVB-IIlL,C—-1, D1l



Options :

22742786181. 1
22742786182. 2
22742786183. 3

22742786184. 4

Question Number : 121 Question Id : 22742722119 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Tt | & 91y 1| &1 FAeE sifoe

T | il
A Afearsil & wid Heud & Ta0- gat k|l 1991
B. =0 HfHR afafy Il. 19582
c. e ofisr sl IIl. 2008
D. T HEHE & AgS Jatt gfafy V. 1969

A TG U f[d@edl § © el 3R &1 904 DI

1. All, B-l, C-lI, D-IV
2. A, B-ll, C-1V, DIl
3. AL, B-Iv, C-ll, DI
4 A-IV, B-lll, C-I, D-lI
Options:
22742786181. 1
22742786182. 2
22742786183. 3

22742786184. 4

Question Number : 122 Question Id : 22742722120 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List — | with List —

List —1 List — II

Issue Based Days Issue Based Day Observes on:
A. World Environment Day  [I. June 5B

B. World HIV AIDS Day II. October 10t

C. International Women’s Day|lll. March 8t
D. World Mental Health Day |IV. December 1%t
Choose the correct answer from the options given below:

1A-I,B-I,C-Ill,D-IV
2A-11,B=-1,C-IllLD-1IV
JA-1,B-INVC-IIlLD-1
4 A-IVB-Il,C-Ill,D-]
Options :

22742786185. 1
22742786186. 2
22742786187. 3

22742786188. 4

Question Number : 122 Question Id : 22742722120 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Tl | ' 1Y 1| BT AeE difee

I | il
o - aneTia fea T S B ARE
A Ty mafe fees |59

B. fay u= o 4 usw 2| 10 se=

C. FRIEI Afge fGaw I, 8 AR
D. &y Anfe e iiag v, 1 IGeax

14 feu U fawcdl § © U981 IR &I 99 HIflu:

1. A, B-ll, C-ll, D-IV
2. Al B-l, C-lIl, D-IV
3. A, B-IV, C-lIl, DAl
4 A-IV, B-Il, C-lll, D-I



Options :

22742786185. 1
22742786186. 2
22742786187. 3
22742786188. 4

Question Number : 123 Question Id : 22742722121 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List — | with List — I

List —1 List =1
Conventions Years
A American Convention of Human Right (ACHR) |. 1961
B. European Convention of Human Right (ECJR) . 19485
C. Adoption of Afrian charter of Human and People Right (ACHFR)|III. 1969
D. UN Caonvention against Torture (UNCAT) V. 1950

Choose the correct answer from the options given below:

1LA-ILB-I,LC-l,D-IV
2 A-NLB-IV,C-I,D-Il
3A-II,B-1,C-IV.D-1I
4 A-IV,B-Ill,C-1l,D-]
Options:

22742786189. 1
22742786190. 2
22742786191. 3

22742786192. 4

Question Number : 123 Question Id : 22742722121 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Tt | & 91y 1| &1 FAeE sifoe

Ll il

Hiv g Tl

A ENE gFaiYER e (U 9 T HR) . 1981
B. T AFETSR ST (3 9 09 3R) Il. 1948
C. AFaTYSRI B8 TUSRI & 3hie! et B SHTs0 (T I 79 Ot 3R)(il. 1969
D. U1 & fa¥g Sg TP {Haag IV. 1950
=< fu 7T fodedl 7 ° 9ol ST &1 99 PIug:

1. A, B-ll, C-ll, DIV
2. Al B-IV, C-I, DI
3. Al B-1, C1V, DAl
4 AV, B-lll, C-Il, DI
Options :
22742786189. 1
22742786190. 2
22742786191. 3

22742786192. 4

Question Number : 124 Question Id : 22742722122 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List — | with List — Il

List -1 List -1l

Author Title of Book

A, Jean-Jacques Rousseau|l. The Order of Things

B. Michel Foucault l. Two Treatises of Government
C. John Locke l1l. On Liberty

D. John Stuart Mill Y. The Social Contract

Choose the correct answer from the options given below:

1LA-1L,B-Il,C-Il,D-IV
2A-ILB-IILC-IV,D-|
JA-IVB-1,C-Il,D-1I
4 A-llLB-IILC-IV,D-|



Options :

22742786193. 1
22742786194, 2
22742786195. 3

22742786196. 4

Question Number : 124 Question Id : 22742722122 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Tt | & 91y 1| &1 FAeE sifoe

i | gl

A. SO ST T || T HTST AH1E 129

C. o @i 1. = feraet

D. T T3 [Ha|IV. g GRT Scae
Al TG U f[d@edl § © el 3R &1 90 DI

1. A, B-ll, C-ll, D-IV
2. Al B-lIl, G-IV, DI
3. A-lV, B-l, C-II, D-lI
4 Al B-Il, C-IV, D-I
Options:
22742786193. 1
22742786194. 2
22742786195. 3

22742786196. 4

Question Number : 125 Question Id : 22742722123 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List — | with List —

List—1 List—1I

Declaration Year

A Virginia Declaration 1. 1215

B. Magna Carta Il. 1776
C. French Declaration of Right of man and citizen|lll. 1628
D. Petition of Rights . 1789

Choose the correct answer from the options given below:

1A-ILB-IIlLC-1l,D-IV
2A-IVB-IlL.C-Ill,D-]
3A-I1.B=-1,C=IV.D-1
4 A-llLB-IV,C—-1. D=1l
Options :

22742786197. 1
22742786198. 2
22742786199. 3

22742786200. 4

Question Number : 125 Question Id : 22742722123 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Tl | ' 1Y 1| BT AeE difee

I | il
gre G

A. TS ST . 1215
B. ATTe! Il. 1776
C. wigd U9 AFTNSG| o HIUERI S wiE! 9|l 1628
D. USRI A% A5eH V. 1789

4 feu U [ cdl § © U981 IR &l 99 HIfIu:

1. A, B-lll, C-ll, D-IV
2. A-lV, B-Il, C-llI, D-I
3. Al B-l, C-IV, D-IlI
4 Al B-IV, C-1, DAl



Options :

22742786197. 1
22742786198. 2
22742786199. 3

22742786200. 4

Question Number : 126 Question Id : 22742722124 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Apart from preamble, which articles are identical in both the covenants of UDHR ie ICCPR and CESCR
A Article 1

B. Article 2

C. Article 3

D. Article 4

E. Article 5

Choose the correct answer from the options given below

1.AB,C
2ABC
3.B,C,D,E
4 ACDE

Options :

22742786201. 1
22742786202. 2
22742786203. 3
22742786204. 4

Question Number : 126 Question Id : 22742722124 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

3R e PR 14 317 8 o 1 T o 2 2 ol o o 1 f o o o @ e o
T &7

A G 1

B. 1wt 2

C. d@e3

D. 3w 4

E 9905
3 feg e ot 4 € 96 S 31 T I

1.ABCE
2ABCD
3.B,CDE
4ACDE

Options :

22742786201. 1
22742786202. 2
22742786203. 3

22742786204. 4

Question Number : 127 Question Id : 22742722125 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following Acts in a chronological order

A._ Protection of women from domestic violence Act.

B. Protection of Children from sexual offences Act.

C. National Commission for women Act.

D. Maternity Benefit Act.

E. Indecent Representation of Women (Prohibition) Act.
Choose the correct answer from the options given below

1.A,B,C,DE
2B,CDEA
3.D,.ECAB
4 C,D EAB

Options :

22742786205. 1
22742786206. 2
22742786207. 3
22742786208. 4

Question Number : 127 Question Id : 22742722125 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Fafafad HAHTE © SaeH | add SIe:

A TS O 9 Aige TR& AfEiEH

B. TIfffeh AURTYT § STcien! T TR0 rfafam
C. T8 Hfge ATanT A

D. Wfd wfaer sfafasa
E. T JHRIF =90 (iays) s

Hid feu e fowed & ¥ 981 STk &1 99 Difot:

1.A,B,C,DE
2 B,C, D EA
J3.D,.ECAB
4 C,D EAB

Options :

22742786205. 1
22742786206. 2
22742786207. 3
22742786208. 4

Question Number : 128 Question Id : 22742722126 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following NGOs in India in the chronological order of their establishment -
A_The People's Union for Civil Liberties (PUCL)

B. Peoples Union for Democratic Right (PUDR)

C. The Association for Democratic Reforms (ADR)

D. Association for Protection of Democratic Right (APDR)

Choose the correct answer from the options given below

1.A,C, D E
2D A B C
3.B,A,D,C
4 C,A B D

Options :

22742786209. 1
22742786210. 2
22742786211. 3

22742786212. 4

Question Number : 128 Question Id : 22742722126 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



o

YRA & IR - WHR T3 (T St 31 B 3901 R $ BIAHHER &7 H aiyd difo|

A. T Uiged gi-EH R Rfa et (di g i Ta)

[

B. §IcH g5 R SHibied T3 (W T 3 3R)

=

C. G THITUYE BR Sk cd REH (T3l 3R)

D. THIRIEEH BR UicdeH 36 SApicd U3¢ (€ Ul 31 3R)

e feu e fopeut # ¥ O IR @1 997 B

1A CD,B
20 A8 C
3.B,ADC
4 C,ABD

Options :

22742786209. 1
22742786210. 2
22742786211. 3

22742786212. 4

Question Number : 129 Question Id : 22742722127 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following instances of application of economic and financial sanctions imposed by the UN Security Council in their
chronological order:

A South Rhodesia

B. South Africa

C. Iraq

D. Libya

E Rwanda

Choose the correct answer from the options given below

1.AB,CDE
2.E,D,C,BA
3.ADB,CE
4 ABDCE

Options :

22742786213. 1
22742786214. 2
22742786215. 3

22742786216. 4

Question Number : 129 Question Id : 22742722127 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



0 TP R N, 51 G TG e T fa el & i o e SRl @1 3 @7l TR AER i
RIS
B. it ampin

C. 5@
D. ciffed

E. W8l
e fou e fomed 4 € od SR g oo

1.AB,CDE
2.E,D,C,BA
3ADBCE
4 ABDCE

Options :

22742786213. 1
22742786214. 2
22742786215. 3

22742786216. 4

Question Number : 130 Question Id : 22742722128 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following legislation in the order of their enactment

A. Protection of Women from domestic violence Act.

B. Scheduled Tribes (Prevention of Atrocities) Act.

C. Maintenance & welfare of Parents and senior citizen Act.

D. Protection of children from sexual offence Act.

E. Sexual Harassment of Women at Workplace [Prevention, Prohibition & Redressal] Act.
Choose the correct answer from the options given below

1.CABED
2DEBAC
3 BADECGC
4 BACDE

Options :

22742786217. 1
22742786218. 2
22742786219. 3

22742786220. 4

Question Number : 130 Question Id : 22742722128 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Fifed faeT @ 3% g fou 9F & %8 § gaiyd Sifag:
A TR BT 3 Afgane &1 wRam afdfgs

B. Igfdd S (IR FHarm) sfafaa

C. AU SR aRE AR BT 01 G 3R Hedvl ffaH-gH

Wt

D. TIFTE AU O ] BT ST g
E SEwd W Afgarsi &1 e 3dis (Faru ufauy 3R ufaam) sifafas
o feu 70 fa@eal & © 9ol 3o) &1 99 Difee:

1. ®ddC,A B E D
2 ®4d D, E, B, A C
3. ®ddB,A D E C
4 $dAB A C D E

Options :

22742786217. 1
22742786218. 2
22742786219. 3
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Arrange the following fundamental duties as per the order they appears in Article 51A of the constitution of India.
A 1o value and preserve the rich heritage of our composite culture.

B. to promote harmony and the spirit of common brotherhood.

C. to protect and improve the natural environment

D. to Strive towards excellence in all spheres of individual and collective activity

E. to develop scientific temper, humanism and spirit of inquiry

Choose the correct answer from the options given below

1.C,EABD
2BACED
3.D,CAEB
4ACDEB

Options :

22742786221. 1
22742786222. 2
22742786223. 3

22742786224. 4

Question Number : 131 Question Id : 22742722129 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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22742786221. 1
22742786222. 2
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Arrange the following Directive Principles in the order of its arrangement in the constitution?
A Duty of state to improve public heath

B. Maternity relief

C. Right to work

D. Equal Justice and free legal Aid

E. Living wages for workers

Choose the correct answer from the options given below

1.B,D,EAC
2.C,D,E BA
3D,CEAB
4D,CBEA

Options :

22742786225. 1
22742786226. 2
22742786227. 3
22742786228. 4
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European convention of Human right has the following key institutions. Arrange them in order of establishment/ coming info
force:

A. European Commission of Human Right

B. European Committes on Human Rights

C. Council of Europe

Choose the correct answer from the options given below

1.ABC
2CAB
3.C,BA
4BAC

Options :

22742786229. 1
22742786230. 2
22742786231. 3
22742786232. 4

Question Number : 133 Question Id : 22742722131 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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22742786229. 1
22742786230. 2
22742786231. 3

22742786232. 4
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There are three optional protocol to the convention of the right of child. Arrange them in order of the date the protocol came into
force.

A Optional Protocol on involvement of children in Armed conflict

B. Optional protocol to the right of child on communication procedure.

C. optional protocol on sale of children, child prostitution and child pomography
Choose the correct answer from the options given below

1.ABC
2.B,CA
3CAB
4ACB

Options :

22742786233. 1
22742786234. 2
22742786235. 3

22742786236. 4

Question Number : 134 Question Id : 22742722132 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1.AB,C
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Options :

22742786233. 1
22742786234. 2
22742786235. 3
22742786236. 4
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Arrange the following in the order of their positions in CrPC

A_ ldentification of person arrested

B. arrest to be made strictly as per the CrPC.

C. Person arrested to be brought before court without delay

D. Person arrested to be taken before magistrate or officer in change of police station.
E. Person arrested to be informed of grounds of arrest and of right to bail.

Choose the correct answer from the options given below

1. EADBC
2ADCBE
3.D, G B EA
4 B,A,C ED

Options :

22742786237. 1
22742786238. 2
22742786239. 3

22742786240. 4

Question Number : 135 Question Id : 22742722133 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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22742786237. 1
22742786238. 2
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Correct Marks : 2 Wrong Marks : 0

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A The constitution of any country decides the inter relation between the legislature | the executive and the judiciary.

Reason R - [tis the responsibility of the legislature, the executive and the judiciary to maintain, the inter refation by adhering to
check and balances mentioned in the constitution and do not misuse their lights, and work according to the constitution.

In the light of the above statements, choose the most appropriate answer from ihe options given below

1. Both Aand R are correct and R is the correct explanation of A.

2. Both Aand R are correct and R is NOT the correct explanation of A.
3. Alis comect but R is not correct

4 Ais not corect but R is correct



Options :

22742786241. 1
22742786242, 2
22742786243. 3

22742786244. 4

Question Number : 136 Question Id : 22742722134 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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22742786241, 1

22742786242, 2

22742786243, 3
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(iven below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A - Indian Tradition recognise large number of elements and contents of Human Right such as Right of human beings
and also of all living beings animals and plants.

Reason R - The belief in hinduism is that human is one of the many forms in which supreme self mainfests itself in universe
which stems from cosmic order of which human society, plants and other aspect of life are a part.

In the light of the above statements, choose the most appropriate answer from ihe options given below

1. Both Aand R are correct and R is the correct explanation of A.

2. Both Aand R are correct and R is NOT the correct explanation of A.
3. Ais comect but R is not correct

4 Ais not corect but R is correct

Options :

22742786245, 1
22742786246. 2
22742786247.3
22742786248. 4

Question Number : 137 Question Id : 22742722135 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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22742786245. 1
22742786246. 2
22742786247. 3

22742786248. 4
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(Given below are two statements

Statement | - The defence of the rights of the individuals and effective exercise of representative democracy are closely
interrelated

Statement || - The inter American system for protection of Human Right is based and has evolved from the above premise.
In the light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement | and Statement I| are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4 Statement | s incorrect but Statement Il is correct

Options :

22742786249. 1
22742786250. 2
22742786251. 3

22742786252. 4

Question Number : 138 Question Id : 22742722136 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Ml

DY |- TG o SARIPRI B! Fia AR G Tt B FHIG FAM G 6] &Y § IR U6 g

U || TR GR&01 o (T o i) HOTe (6) ST e a1 ¥ S g9l & 9N 34 | NG &
ST T B 3Tl H A1 6T T fadedl 5 § Fad JUg I @1 TH DIt

1 B RIS R R

2 B | IR T T 8

3 T | RIS, Tl 5 || T &
4 T | T E, T B 1| TG &
Options :
22742786249. 1
22742786250. 2
22742786251. 3

22742786252. 4

Question Number : 139 Question Id : 22742722137 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

(Given below are two statements -

Statement | : Trade record of TNCs especially in the under developed and developing countries depict human right violations
and abuse of power.

Statement Il - TNCs are found to be responsible for violating human rights in under developed and developing countries by
violating labour laws, rights of women, children, indigenous people and dumping waste.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are correct

2 Both Statement | and Statement Il are incorrect
3. Statement | 1s correct but Statement Il 1s incarrect
4 Statement | 1s Incorrect but Statement Il is correct
Options:

22742786253. 1

22742786254, 2



22742786255. 3
22742786256. 4

Question Number : 139 Question Id : 22742722137 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Given below are two statements -

Statement | : The 54 members of economic and Social Council serve for three-year tems.

Statement Il : Voting in the ECOSOC (Economic and Social Council) is by simple majority, with each member having one vote.
In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement II are correct

2. Both Statement | and Statement | are incorrect
3. Statement | is correct but Statement Il is incorrect
4 Statement | is incorrect but Statement Il is correct

Options :

22742786257. 1
22742786258. 2
22742786259. 3
22742786260. 4

Question Number : 140 Question Id : 22742722138 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension

Read the following Passage and answer the questions

Theories of justice are not, taken by most mainstream practitioners to be anything like as general and underspecified as a
framework of reasoning. Rather these specialists seem determined to take us straightaway to some fairly detailed formula for
social justice and to firm identification, with no indeterminacy, of the nature of just social instifutions. Rawls's theory of justice
llustrates this very well. There is a lot of critical reasoning, involving respectively the pre-eminence of faimess, the conception of
the original position, the nature of representation that is involved in the exercise and the type of unanimity that is expected in the
choice of institutional principles in the original position. All such general reasoning takes us, we are assured, to quite clear-cut
rules to follow as unambiguous principles of justice, with singular institutional implications. In the case of Rawlsian justice, these
principles primarily include the priority of iberty (the first principle), some requirements of procedural equality (first part of the
second principle) and some demands of equity, combined with efficiancy, in the form of giving precedence to promoting the
interests and advantages of the worst-off group (the second part of the second principle). With all this particularized delineation
In Rawlsian theory, there need be no great fear of being accused of indecisiveness.

Sub questions

Question Number : 141 Question Id : 22742722140 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Where can some requirements of procedural equality be found in the case of Rawlsian justice?

1. In the first principle

2. In the first part of the second principle.

3. In the second part of the second principle
4. In the third principle

Options :

22742786261. 1

22742786262. 2

22742786263. 3

22742786264. 4

Question Number : 142 Question Id : 22742722141 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of these 1s an unambiguous principle of justice with singular institutional implications in the contact of Rawisian justice?

1. Misconception of original position
2. Non-unanimous choice

3. Priority of liberty

4. Uncritical reasoning
Options :
22742786265. 1
22742786266. 2
22742786267. 3

22742786268. 4
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
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Correct Marks : 2 Wrong Marks : 0



As per the author, Rawlsian theory cannot be accused of :

1. Indecisiveness

2. Critical reasoning
3. Procedural equality
4. Liberty

Options :

22742786269. 1
22742786270. 2
22742786271. 3
22742786272. 4
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What does Rawl's theory of justice illustrate in terms of what mainstreams practitioners do?

1. A general |dea of social justice

2. Provide a firm identification of the nature of just social institutions
3. Avague idea of liberty

4. The imperative of procedural justice

Options :

22742786273. 1

22742786274. 2

22742786275. 3

22742786276. 4

Question Number : 145 Question Id : 22742722144 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



What does the author consider the mainstream practitioners fo take a theory of justice to be not like?

1. As indeterminate as a social institution.

2. Aclear and precise as a framework of reasoning.

3. Unambiguous as a principle of institutional justice

4. General and underspecified as a framework of reasoning.

Options :
22742786277. 1
22742786278. 2

22742786279. 3
22742786280. 4
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Read the following Passage and answer the questions

Abig limitation that stands in the way of Parliament acting by a special majority, to introduce drastic changes in the constitution,
is the judicially innovated doctrine of “basic featiures” which can be eliminated only if a Bench larger than the “43- Judge Bench’

In Keswananda’s case be prepared to overturn the decision in that case. In the meantime, applying Keswananda, the majority of
the Constitution Bench has invalidated Clauses (4) and (5) of Article 363 as violative of the basic features of the Constitution.

The Fundamental Rights form the basic structure of the Constitution. Any law that abrogates or abridges such rights would be
violative of the doctrine of basic structure. Article 32 being a fundamental right, it is the duty of the court to ensure that no
fundamental right is contravened or abridged by any statutory or constitutional provision.

Aviolation of separation of powers need not rise to such a level that the Apex Court considers it an abrogation of the basic
structure. Itis important to note that separation of powers. Between three organs-the Legisiature, the Executive and the
Judiciary- Is also nothing but & consequence of principals of equality enshrined in Article 14 of the Constitution of India.
Accordingly, breach of the separation of Judicial powers, may amount o negation of equality under Article 14. Stated thus, a
legislation can be invalidated on the basis of breach of the separation of powers, since such breach is negation of equality under
Atticle 14 of the constitution.

Sub questions

Question Number : 146 Question Id : 22742722146 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

What was the bench strength in the case of Kesavananda?

1. Five judges

2. Seven Judges
3. Eleven Judges
4 Thirteen Judges

Options :

22742786281. 1
22742786282. 2
22742786283. 3

22742786284. 4

Question Number : 147 Question Id : 22742722147 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

What is the biggest limitation on the parliament to drastically change the constitution by a special majority?

1. Article 368 of the constitution of India.

2. Article 32 of the constitution of India

3. Overturning the doctrine of basic features by a Larger bench
4. Separation of powers between the three wings of government

Options :

22742786285. 1
22742786286. 2
22742786287. 3

22742786288. 4

Question Number : 148 Question Id : 22742722148 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of these Is a basic structure of the Constitution?

1. Fundamental rights

2. Kesavanand's case

3. Duty of the courts to intervene in matters of public policy

4. Preventing parliament from amending the constitution of India

Options:

22742786289. 1
22742786290. 2
22742786291.3

22742786292. 4

Question Number : 149 Question Id : 22742722149 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Which is the nexus between separation of powers and Article 14 of the Constitution of India?

1. Being a fundamental right it is the duty of the court to ensure that the fundamental right is violated.

2. Breach of separation of judicial powers may amount to negation of equality under Article 14.

3. Separation of powers is a limitation on the Parliament to amend the Constitution

4 Separation of powers is based on Article 32 whose violation results in breach of Article 14 of the Constitution of India

Options :

22742786293. 1
22742786294, 2
22742786295. 3

22742786296. 4

Question Number : 150 Question Id : 22742722150 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of these is a fundamental right?

1. Right to approach the supreme Court under Article 132 of the Constitution of India
2. Right of Judiciary to limit the amending power of the parliament.

3. Right of parliament to amend the Constitution by a special majority.

4 Right to approach the Supreme Court of India under Article 32 of the Constitution

Options :

22742786297. 1
22742786298. 2
22742786299. 3

22742786300. 4

Question Id : 22742722145 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)

Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 22742722146 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

HEEF dlG (AHd) H fbd- =i o1 dis &4t

1. Uid g

2 Id gt

3 TRg I

4 TRE <G

Options :

22742786281. 1

22742786282. 2

22742786283. 3

22742786284. 4

Question Number : 147 Question Id : 22742722147 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
=9 9g9d & 1 9fd¥H 1 95 URadd 3 &g giayE § Gafidd dof GH d18?

1. YRd & HAYH &1 A6 — 368

2. YRd & GidYH BT =g — 32

3 g8t o9 (U18) gR1 Hifti® fagwarsi & fagid & 3de ¢
4. TR & dH HET o H ATGadl Dl JUam

Options :

22742786285. 1
22742786286. 2
22742786287. 3
22742786288. 4

Question Number : 148 Question Id : 22742722148 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
34§ D dfayH S Afde WaA1 82

1. HaYd HEPR

2. HIEMHG B (d13)

3. OideiA® (did) Hifd & AFdl § 854U B34 a4 ey & ddd
4. YRY dfayE © geiyd s34 9 99g &1 AdH|

Options :

22742786289. 1
22742786290. 2
22742786291. 3
22742786292. 4

Question Number : 149 Question Id : 22742722149 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



WRd o e o Sfekea! o QuaenRyl e 14 & e T ey 37
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Options :

22742786293. 1
22742786294. 2
22742786295. 3

22742786296. 4

Question Number : 150 Question Id : 22742722150 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

=8 U @ difd® HUPR 27

1. YRd & UaYH & 3 w8c 132 & H=Fid Seadd GEed Ugd- (SF) &1 PR
2 O9g o dfaur diye o & 9ifd & &1 guiiae! o SfUeR

3. fo=Iy Sgwa g1 Hiau | TR0 W9 Tug o R
4. Ty & 3w 32 & A=Fid HRd & J=dd ey Ugd- () B HTHR

Options :

22742786297. 1
22742786298. 2
22742786299. 3
22742786300. 4



